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QUESTION: 66
Which action invokes supply chain orchestration and transfer of data to supply chain
orchestration interface tables?

A. creating a new Inventory Organization for execution of supply Chain orchestration
B. running a scheduled process called "Create Transactions™

C. creating Purchase Order Receipt

D. running Min-Max Planning

Answer: A

QUESTION: 67
What does the system do if you have not entered a count for a tag during physical
inventory process?

A. 1t will consider the current system quantity.

B. Any adjustment will be rejected.

C. You will not be able to post without a quantity for every tag.
D. It will adjust your on-hand balances down to zero quantity.
E. A warehouse person will be notified.

Answer: D

Explanation:
https://docs.oracle.com/cd/A60725 05/html/comnls/us/inv/phyadj02.htm

QUESTION: 68

A supply request has been received in supply chain orchestration. Both organizations
belong to the same legal entity and they do not have a buy-sell relationship between
them. Which type of execution document can fulfill the supply request?

A. Sales Order
B. Purchase Order
C. Transfer Order



D. Purchase Requisitions

Answer: C

QUESTION: 69
Which two tasks must be defined to set up the Facilities Schedule?

A. Manage Facility Workday Patterns
B. Manage Facility Shifts

C. Manage Facility Holidays

D. Manage Facility Operations

E. Manage Facility Time Cards

Answer: A, B

QUESTION: 70

A third-party Service equipment is used for various purposes in a manufacturing facility
and needs to be overhauled once a year. This equipment is charged based on its
consumption without a project dependency. At this point, it should be transferred out to
the vendor's warehouse for maintenance and then returned back in the future depending
upon the requirement. The material stock transfer should happen with an offline
approval and with an account alias as a logical reference. What is the ideal way to
handle this process?

A. Subinventory Transfer

B. Transfer Order

C. Move Request

D. Miscellaneous Transaction
E. Requisitions

Answer: A

QUESTION: 71

You have an organization that runs both its domestic and international business from the
same offices. However, the organization does not want the domestic side of the business
to be able to transact on the International side, even though they are selling the same



material. How do you configure your enterprise to meet this requirement?

A. Use data access security to separate what each customer can control.

B. Set up the domestic and International businesses as separate projects.

C. Set up the domestic and International businesses as separate cost centers.

D. Set up the domestic and International businesses as separate operating units.
E. Set up the domestic and International businesses as separate business units.6

Answer: A

QUESTION: 72

During Cloud Inventory implementation your customer requires you to enable the
Oracle Transactional Business Intelligence (OTBI) KPI to review the list of standard
reports which is useful for their Current business scenario. When navigating to reports
and analytics, the warehouse dashboard doesn't show any KPI watchlist.

Identify two causes.

A. Supply Chain and Order Management Business Intelligence Analytics is not enabled.
B. Logistics Business Intelligence Analytics is enabled.

C. Organization is not enabled for warehousing.

D. Data permissions for the organization being referenced are not set up.

E. Logistics Business Intelligence Analytics is not implemented.

Answer: A, E

QUESTION: 73

The physical inventory process is Carried out for & particular inventory organization
with the following parameter:

* Negative Quantity Tolerance Percentage is set to 10%

* Approval Type = 'Always'

The system says that there are 100 on hand, but you only counted 95. What will happen?

A. An approval will be required before posting.

B. The system will ask a user to recount before posting.

C. Because the 95 is within the 10% tolerance, it will post without approval.
D. The setup is invalid; it will give an error message.



Answer: D
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